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PHARMACY / µ’$m°‘©gr$

PAPER-7
Pharmacy Aptitude : Q. 1 to Q. 100

001. What is the dose for an 8 month old infant if 

average adult dose of a drug is 250 mg-

 (A) 12.9 mg

 (B) 11.7 mg

 (C) 13.3 mg

 (D) 10.3 mg

002. An example of chemical incompatibility is-

 (A) Oxidation- reduction

 (B) Complexation

 (C) Precipitation

 (D) All of the above

001. EH$ 8 ‘hrZo Ho$ {eew Ho$ {bE IwamH$ Š`m h¡ AJa

EH$ Xdm H$s Am¡gV d`ñH$ IwamH$ 250 {‘brJ«m‘ h¡-

 (A) 12.9 {‘brJ«m‘

 (B) 11.7 {‘brJ«m‘

 (C) 13.3 {‘brJ«m‘

 (D) 10.3 {‘brJ«m‘

002. amgm`{ZH$ Ag§J{V H$m EH$ CXmhaU h¡-

 (A) Am°ŠgrH$aU- H$‘r

 (B) H$m°‘ßb¡gogZ

 (C) VbN>Q>

 (D) Cnamoº$ g^r
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003. Collodions are liquid preparations meant for-

 (A) For Eyes

 (B) External use on skin

 (C) Nasal use

 (D) Internal use

004. An example of suspension containing 

indiffusible solids is-

 (A) Magnesium trisilicate mixture

 (B) Calamine lotion

 (C) Zinc sulphide lotion

 (D) Sulphur lotion

005. Lecithin is an example of-

 (A) Amphoteric surfactant

 (B) Zwitterionic surfactant

 (C) Both of the above 

 (D) None of the above

006. The stable form of theobroma oil is-

	 (A)	 α	 (B)	 γ

	 (C)	 β	 (D)	 All	of	the	above

007. Contact lenses are usually made from-

 (A) HPMC

 (B) Phthalates

 (C) Polymethyl methacrylate

 (D) All of the above

008. Which one is act as antiperspirant-

 (A) Aluminium chlorohydrate

 (B) Magnesium carbonate

 (C) Both

 (D) None of the above

003. Collodions Š`m h¢?

 (A) Am±Im| ‘| S>mbVo h¡

 (B) ËdMm na ~mhar Cn`moJ {H$`m OmVm h¡

 (C) ZmH$ Ho$ {bE Cn`moJ {H$`m OmVm h¡

 (D) Am§V[aH$ Cn`moJ {H$`m OmVm h¡

004. A{dbo` R>mog `wº$ {Zb§~Z H$m EH$ CXmhaU h¡-

 (A) ‘¡¾r{e`‘ Q´mB{g{bHo$Q> {‘lU

 (B) H¡$bo‘mBZ bmoeZ

 (C) qOH$ gë’$mBS> bmoeZ

 (D) gë’$a bmoeZ

005. bo{g{WZ {H$gH$m CXmhaU h¡-

 (A) Eå’$moQ>o[aH$ g’}$ŠQ>|Q>

 (B) pµÁdQ>[a`mo{ZH$ g’}$ŠQ>|Q>

 (C) Cnamoº$ XmoZm|

 (D) Cnamoº$ ‘| go H$moB© Zht

006. {W`mo~«mo‘m Vob H$m pñWa ê$n h¡-

 (A) a (B) g

 (C) b (D) Cnamoº$ g^r

007. H$m°ÝQ>¡ŠQ> b|g Am‘Vm¡a na {H$ggo ~ZmE OmVo h¢-

 (A) EM nr E‘ gr

 (B) ’$WmboQ²>g

 (C) nm°br‘oWmBb ‘oW¡{H«$boQ>

 (D) Cnamoº$ g^r

008. H$m¡Z gm  nXmW© ñdoXamoYH$ Ho$ ê$n ‘| H$m`© H$aVm h¡-

 (A) Eë`w{‘{Z`‘ ŠbmoamohmBS´oQ>

 (B) ‘¡¾r{e`‘ H$m~m}ZoQ>

 (C) XmoZm|

 (D) Cnamoº$ ‘| go H$moB© Zht
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009. Cachets are also known as-

 (A) Effervescent tablets

 (B) Triturates

 (C) Volatile substances

 (D) Wafer capsules

010. Certain low melting solids sometimes liquefy 

when mixed together. Such mixtures are 

known as-

 (A) Indiffusible mixtures

 (B) Eutectic mixtures

 (C) Diffusible mixtures

 (D) Complex mixtures

011. The blood sugar  regulating peptidehormone 

present in human body is:

 (A) Actin (B) Insulin

 (C) Albumin (D) Haemoglobin

012. In liver, glucose is stored in the form of:

 (A) Sucrose

 (B) Fructose

 (C) Glycogen

 (D) None of the above.

013. Which of the following is known as good 

cholesterol:

 (A) Chylomicrons

 (B) Very-low-density-lipoproteins

 (C) Low density lipoproteins

 (D) High-density lipoproteins

009. Cachet (g§nw{Q>H$m)-- Ho$ Zm‘ go ̂ r OmZm OmVm h¡-

 (A) E{’${eE§Q> Q>¡~boQ>

 (B) Q´>mBQy>aoQ²>g

 (C) dmînerb nXmW©

 (D) do’$a H¡$ßgyb

010. Hw$N> H$‘ {nKbZo dmbo R>mog nXmW© H$^r-H$^r EH$ 

gmW {‘bmZo na Ðdr^yV hmo OmVo h¢²& Bg Vah Ho$ 

{‘lU H$mo ------- Ho$ ê$n ‘| OmZm OmVm h¡-

 (A) AàË`j {‘lU

 (B) `yQ>opŠQ>H$ (eutectic) {‘lU

 (C) {S>â`yOo~b {‘lU 

 (D) O{Q>b {‘lU

011.  ‘mZd eara ‘| ‘m¡OyX aº$ eH©$am H$mo {Z`§{ÌV H$aZo 

dmbr noßQ>mBS>hm°‘m}Z----- h¡&

 (A) EpŠQ>Z (B) B§gw{bZ

 (C) Ebã¶w{‘Z (D) hr‘mo½bmo{~Z

012. {OJa ‘| ½byH$moO H$mo-- ê$n ‘| g§J«hrV {H$`m OmVm h¡&

 (A) gwH«$moO

 (B) ’«w$ŠQ>moO

 (C) ½bmBH$moOZ

 (D) Cnamoº$ ‘| go H$moB© Zht&

013. {ZåZ ‘| go {H$go AÀN>o H$moboñQ´m°b Ho$ ê$n ‘| OmZm 

OmVm h¡:

 (A) H$mBbmo‘mBH«$moÝg

 (B) ~hþV-H$‘ KZËd-bmBnmoàmoQ>rZ

 (C) H$‘ KZËd dmbo {bnmoàmoQ>rZ

 (D) Cƒ KZËd dmbo {bnmoàmoQ>rZ



7-AA ] [ 5 ] [ P.T.O.

014. Vitamin B1 is also known as:

 (A) Thiamine (B) Niacin

	 (C)	 Riboflavin	 (D)	 Pyridoxine

015.	 Pellagra	is	caused	due	to	deficiency	of:

 (A) Niacin

 (B) Menaquinone

 (C) Cyanocobalamin

 (D) Pantothenic acid

016. The most abundant macronutrient present in 

human body is:

 (A) Potassium (B) Sodium

 (C) Calcium (D) Phosphorus

 

017. Relative increase in the number of circulating 

red blood cells is known as:

 (A) Agranulocytosis

 (B) Polycythemia

 (C) Anaemia

 (D) Thrombopenia

018.	 The	 specific	 rotation	 of	 a	 freshly	 prepared	

solution of glucose in water is:

 (A) +112.2 (B) +52.7

 (C) -112.2 (D) -52.7

019. Precursor form of enzymes is known as:

 (A) Proenzymes

 (B) Apoenzymes

 (C) Isoenzymes

 (D) None of the above

014. {dQ>m{‘Z ~r1------ Ho$ ê$n ‘| ^r OmZm OmVm h¡:

 (A) Wr¶m{‘Z (B) {Z`m{gZ

 (C) amB~moâbo{dZ (D) nmBamoS>m°p³gZ

015. noëJ«m------ H$s H$‘r Ho$ H$maU hmoVm h¡:

 (A) {Z`m{gZ

 (B) ‘rZm³¶rZm°Z

 (C) gmBZmoH$mo~mbm‘rZ

 (D) n¢Q>moWo{ZH$ E{gS>

016. ‘mZd eara ‘| ‘m¡OyX g~go àMwa ‘¡H«$moÝ`y{Q´E§Q> 

(macronutrient)----- h¡:

 (A) nmoQ>o{e`‘ (B) gmo{S>`‘

 (C) H¡$pëe`‘ (D) ’$mñ’$moag

017. bmb aº$ H$mo{eH$mAm| H$mo àgm[aV H$aZo H$s g§»`m ‘| 

AnojmH¥$V d¥{Õ H$mo {ZåZ Ho$ ê$n ‘| OmZm OmVm h¡:

 (A) AJ«Zwbmoñ`Q>mo{gg

 (B) nm°brgmBWo{‘¶m

 (C) EZr{‘`m

 (D) W«må~mon{Z¶m

018. nmZr ‘| ½byH$moO Ho$ VmOm V¡`ma Kmob H$m specific	

rotation---- h¡:

 (A) +112.2 (B) +52.7

 (C) -112.2 (D) -52.7

019. E§OmB‘ Ho$ nyd©Jm‘r ê$n H$mo------ H$hm OmVm h¡:

 (A) àm°EÝOmBåg

 (B) AnmoÝOmBåg

 (C) AmBgmoÝOmBåg

 (D)  Cnamoº$ ‘| go H$moB© Zht
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020. Barfoed’s test is used for detection of:

 (A) Protiens

 (B) Carbohydrates

 (C) Cholesterol

 (D) Glycerol

021. The route of drug administration that gives 

100% drug absorption is:

 (A) Intravenous route

 (B) Intramuscular route

 (C) Subcutaneous route

 (D) Sublingual route

022. Which of the following is a systemic 

antacid:

 (A) Sodium bicarbonate

 (B) Calcium carbonate

 (C) Magnesium hydroxide

 (D) All the above

023. Which of the following is H2 receptor 

antagonist:

 (A) Cimetidine (B) Ranitidine

 (C) Metiamide (D) All the above.

024. Which of the following is a haematinic:

 (A) Iron

 (B) Vitamin B12

 (C) Folic Acid

 (D) All of the above.

020. Barfoed H$m narjU {ZåZ H$m nVm bJmZo Ho$ {bE 

Cn`moJ {H$`m OmVm h¡:

 (A) àmoQ>rZ

 (B) H$m~m}hmBS´oQ>

 (C) H$moboñQ´m°b

 (D) p½bgam°b

021. Xdm XoZo H$m ‘mJ© Omo 100% Xdm AdemofU XoVm h¡:

 (A) A§V…{eam ‘mJ©

 (B) B§Q´m‘ñŠ`wba ‘mJ©

 (C) CnM‘© ‘mJ©

 (D) gpãb§JwAb ‘mJ©

022. {ZåZ{bpIV ‘| go H$m¡Z gm EH$ E§Q>m{gS> h¡ Omo nyao 

eara ‘| OmVm h¡:

 (A) gmo{S>`‘ ~mBH$m~m}ZoQ>

 (B) H¡$pëe`‘ H$m~m}ZoQ>

 (C) ‘¡¾r{e`‘ hmBS´m°ŠgmBS>

 (D) Cnamoº$ g^r

023. {ZåZ{bpIV ‘| go H$m¡Z H2 [agoßQ>a {damoYr h¡:

 (A) {g‘o{Q>S>mBZ

 (B) aoZr{Q>{S>Z

 (C) ‘o{Q>¶m‘mBS>

 (D) Cnamoº$ g^r&

024. {ZåZm§{H$V ‘| go H$m¡Z-gm EH$ h¡‘o{Q>H$ h¡:

 (A) bm¡h

 (B) {dQ>m{‘Z ~r 12

 (C) ’$mo{bH$ E{gS>

 (D) Cnamoº$ g^r&
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025. `Which of the following is not a mydriatic 

agent:

 (A) Adrenaline (B) Atropine

 (C) Pilocarpine (D) Ephedrine

026. Which of the following is used to treat 

glaucoma:

 (A) Physostigmine

 (B) Timolol

 (C) Acetazolamide

 (D) All of the above

027. ‘Gray baby syndrome’ is major adverse 

effect of:

 (A) Tetracyclines

 (B) Penicillins

 (C) Chloramphenicol

 (D) Macrolides

028. Chloroquine is used in the treatment of:

 (A) Stomatitis (B) Malaria

 (C) Urticaria (D) Bronchitis

029. Which of the following is a local anesthetic:

 (A) Cocaine (B) Procaine

 (C) Lidocaine (D) All the above.

030. Drug of choice in acute myocardial infarction 

is:

 (A) Morphine

 (B) I.V. heparin

 (C) Nitroglycerine

 (D) Streptokinase

025. "{ZåZ{bpIV ‘| go H$m¡Z EH$ nm¡am{UH$ EO|Q> Zht h¡:

 (A) ES´oZmbmB©Z (B) EQ´>monmB©Z

 (C) nrbmoH$m©nmB©Z (D) A’¡$S´>mBZ

026. ‘mo{V`mq~X Ho$ BbmO Ho$ {bE {ZåZ{bpIV ‘| go 

{H$gH$m Cn`moJ {H$`m OmVm h¡:

 (A) ’$sOmo{Q>J‘mBZ

 (B) {Q>‘mobmob

 (C) EogQ>mOmobm‘mB©S>

 (D) Cnamoº$ g^r&

027. J«o ~o~r qgS´mo‘ 'H$m à‘wI à{VHy$b à^md---- XoVm 

h¡:

 (A) Q>¡Q´>mgmB©p³bÝg

 (B) no{Z{g{bZ

 (C) ³bmoam‘’o${ZH$m°b

 (D) ‘m³amobmB‹S>g

028. Šbmoamo¹$sZ H$m Cn`moJ {ZåZ{bpIV ‘| {H$`m OmVm h¡:

 (A) ñQ>mo‘mQ>mBQ>rg (B) ‘bo[a`m

 (C) {nÎmr (D) ~«m|H$mB{Q>g

029. {ZåZ{bpIV ‘| go H$m¡Z EH$ ñWmZr` g§doXZmhmar h¡:

 (A) H$moH$sZ (B) àmoHo$Z

 (C) br‹S>moH$mBZ (D) Cnamoº$ g^r&

030. Vrd« amoYJbZ ‘| ng§X H$s Xdm h¡:

 (A) Aµ’$s‘

 (B)  I.V. h¡onm[aZ

 (C) ZmBQ´mop½bgarZ

 (D) ñQ´>¡ßQ>moH$sZmO
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031.	 Which	of	the	following	is	not	a	first	line	

drug for tuberculosis:

 (A) Isoniazid

 (B) Ethionamide

 (C) Rifampicin

 (D) Pyrazinamide

032. Which of the following is not a 5-membered 

heterocyclic ring compound:

 (A) Pyrrole (B) Furan

 (C) Imidazoline (D) Indole

033. 1, 3,7, trimethyl xanthine is chemical name 

of:

 (A) Bemegride

 (B) Theophylline

 (C) Caffeine

 (D) Amphetamine

034. Barbitone, a CNS depressant  chemically is:

 (A) 5,5 diethyl barbituric acid

 (B) 5-Ethyl, 5- Phenyl barbituric acid.

 (C) Both a & b

 (D) None of the above

035. Which of the following is an amino-ethanol 

derivative of catechol:

 (A) Adrenaline

 (B) Isoprenaline

 (C) Noradrenaline

 (D) Methedrine

031. Vno{XH$ Ho$ {bE {ZåZ{bpIV ‘| go H$m¡Z gr ng§X H$s 

nhbr Xdm Zht h¡:

 (A) AmBgmoÝ¶m{OX

 (B) B{W¶moZm‘mB‹S>

 (C) [a’¡$pån{gZ

 (D) nmBam{OZm‘mB‹S>

032. {ZåZ ‘| go H$m¡Z gm 5-gXñ`r` {df‘H$moUr` db` 

`m¡{JH$ Zht h¡:

 (A) nmBamob (B) ’y$a°Z

 (C) B{‘S>mOmo{bZ (D) BÊS>mob

033. 1, 3,7, Q´mB‘oWmBb µOoÝWmBZ amgm`{ZH$ Zm‘ h¡:

 (A) ~¡‘oJ«mBS>

 (B) {W`mo{’$bmBZ

 (C) H¡$’$sZ

 (D) Eåµ’$¡Q>o{‘Z

034. amgm`{ZH$ ê$n go grEZEg {S>àog|Q> ~ma{~Q>moZ h¡:

 (A) 5,5 S>m`WmBb ~m{~©Q>çy[aH$ E{gS>

 (B) 5-E{Wb, 5- {’$ZmBb ~m{~©Q>çy[aH$ E{gS>&

 (C) E Am¡a ~r XmoZm|

 (D) Cnamoº$ ‘| go H$moB© Zht

035. {ZåZ{bpIV ‘| go H$m¡Z gm catechol H$m A‘rZmo-

EWZm°b ì`wËnÞ h¡:

 (A) ES´oZmbmB©Z

 (B) AmBgmoà¡bmB©Z

 (C) ZmoaS´>¡ZmbmB©Z

 (D) ‘¡W¡S´>mBZ
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036. Which of the following is also known as 

‘tropyltropine’:

 (A) Scopolamine

 (B) Homatropine

 (C) Eucatropine

 (D) Atropine

037. Which of the following anticoagulant is 

inactive orally:

 (A) Warfarin

 (B) Heparin

 (C) Phenindione

 (D) None of the above.

038. Insulin consists of 51 amino acids arranged in 

two chains A and B. How many amino acids 

are there in chain A and B respectively:

 (A) 21&30 (B) 30&21

 (C) 31&20 (D) 20&31

039. Oxytocin is the hormone secreted by:

 (A) Anterior Pituitary

 (B) Posterior Pituitary

 (C) Hypothalamus

 (D) None of the above.

040. Which of the following compound is used as 

bacterio-static agent in “eye-drops”:

 (A) Cetrimide

 (B) Benzalkonium Chloride

 (C) Hexachlorophene

 (D) All of the above

036. {ZåZ{bpIV ‘| go {H$go Q´mo{nbQ´mo{nZ Ho$ Zm‘ go ^r 

OmZm OmVm h¡:

 (A) ñH$monmobm{‘Z

 (B) hmo‘oQ´monrZ

 (C) `moH$m°Q´monrZ

 (D) EQ´mo{nZ

037. ‘m¡pIH$ ê$n go {XE OmZo na {ZåZ{bpIV ‘| go H$m¡Z 

gm W¸$m-amoYr {ZpîH«$` h¡:

 (A) dma’$[aZ

 (B) hon[aZ

 (C) ’o${ZZS>mB©CZ

 (D) Cnamoº$ ‘| go H$moB© Zht²&

038. B§gw{bZ ‘| Xmo l¥§IbmAm| E Am¡a ~r ‘| ì`dpñWV 

51 A‘rZmo E{gS> hmoVo h¢ Am¡a l¥§Ibm E Am¡a ~r ‘| 

H«$‘e… {H$VZo A‘rZmo E{gS> hmoVo h¢:

 (A) 21 Am¡a 30 (B) 30 Am¡a 21

 (C) 31 Am¡a 20 (D) 20 Am¡a 31

039. Am°ŠgrQ>mo{gZ {H$g J«§{W Ûmam òm{dV hm‘m}Z h¡:

 (A) nyd©H$mb {nQ>çyQ>ar

 (B) nü {nQ>çyQ>ar

 (C) hmBnmoW¡bo‘g

 (D) Cnamoº$ ‘| go H$moB© Zht²&

040. {ZåZ{bpIV ‘| go {H$g `m¡{JH$ H$m Cn`moJ AmB©-Śm°ßg 

‘| OrdmUw-ñW¡{VH$ EO|Q> Ho$ ê$n ‘| {H$`m OmVm h¡:

 (A)  g¡{Q´>‘mB‹S>

 (B) ~|µOmbH$mo{Z`‘ ŠbmoamBS>

 (C) h¡³gm³bmoamo{’$Z

 (D) Cnamoº$ g^r&
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041. A typical adult has a blood volume of 

approximately-

 (A) 10 litres (B) 5 litres

 (C) 72 litres (D) 300 ml

042. Which is not a live attenuated live vaccine—

 (A) BCG (B) Measles

 (C) OPV (D) Pertusis

043. Increased demand of oxygen causes-

 (A) Myocardial infarction

 (B) Hypertension

 (C) Angina pectoris

 (D) Congestive heart failure

044. Which one of the following is used in the 

treatment of disease, AIDS-

 (A) Chloramphenicol

 (B) Rifampin

 (C) Tetracyclines

 (D) Amantadine

045. The presence of the ozone layer in the upper 

atmosphere is important because-

 (A) it enhances the greenhouse effect 

 (B) it increases all types of skin cancer

 (C) it absorbs harmful ultraviolet radiation 

 (D) all of the above

041. EH$ gm‘mÝ` d`ñH$ Ho$ aº$ H$s ‘mÌm bJ^J hmoVr 

h¡-

 (A) 10 brQ>a (B) 5 brQ>a

 (C) 72 brQ>a (D) 300 {‘br

042. H$m¡Z gm gOrd bmBd Q>rH$m Zht h¡-

 (A) ~rgrOr (B) Igam

 (C) Amonrdr (D) naQ²>¶y{gg

043. Am°ŠgrOZ H$s ‘m§J ‘| d¥{Õ Ho$ H$maU ---- hmoVm h¡

 (A) amoYJbZ

 (B) Cƒ aº$Mmn

 (C) EZOmBZm noŠQ>mo[ag

 (D) öX` H$s {d’$bVm

044. {ZåZ{bpIV ‘| go {H$gH$m Cn`moJ amoJ, ES²g Ho$ 

CnMma ‘| {H$`m OmVm h¡-

 (A) ³bmoa‘{’$ZrH$mob

 (B) [a’$mpånZ

 (C) Q>oQ´mgmB©ŠbsZ

 (D) A‘ZQ>m‹S>mBZ

045. D$nar dm`w‘§S>b ‘| AmoOmoZ naV H$s CnpñW{V 

‘hËdnyU© h¡ Š`m|{H$-

 (A) `h J«rZhmCg à^md H$mo ~‹T>mVm h¡

 (B) BgHo$ H$maU g^r àH$ma Ho$ ËdMm H¢$ga ‘| VoO

 d¥{Õ hþB© h¡

 (C) `h hm{ZH$maH$ nam~¢JZr {d{H$aU H$mo Ademo{fV

 H$aVm h¡

 (D) Cnamoº$ g^r
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046. Essential amino acids are best described as 

those amino acids that are-

 (A) required for protein synthesis but cannot 

 be made by the body 

 (B) naturally occurring substances that 

	 function	in	fighting	infection	
 (C) important components of carbohydrates, 

 fats, and proteins 

 (D) high-energy nutrients that promote  

 growth and development

047. Which is not a symptom of TB-

 (A) Pain in chest

 (B) Chills, fever or night sweats

 (C) Weakness or fatigue

 (D) Headache

048. Diphtheria is caused by-

 (A) Myxoviruses

 (B) Gram +ve bacillus

 (C) Gram –ve bacillus

 (D) Aerobic bacillus

049. Which seizures are common in children?

 (A) Generalized tonic-clonic 

 (B) Absence seizures

 (C) Atonic

 (D) Partial

050.  In water the acceptable limit of chlorides of 

calcium and magnesium are-

 (A) 50-100 mg/L

 (B) 100-200 mg/L

 (C) 200-600 mg/L

 (D) 700-800 mg/L

046. Amdí`H$ A‘rZmo Aåb do h¢ Omo----- -

 (A) àmoQ>rZ g§ûcofU Ho$ {bE Amdí`H$ h¡ bo{H$Z

 eara Ûmam Zht ~Zm`m Om gH$Vm h¡

 (B) àmH¥${VH$ ê$n go nmE OmZo dmbo nXmW© Omo

 g§H«$‘U go b‹S>Zo ‘| H$m`© H$aVo h¢

 (C) H$m~m}hmBS´oQ>, dgm Am¡a àmoQ>rZ Ho$ ‘hËdnyU©

 KQ>H$ h¢

 (D) Cƒ-D$Om© nmofH$ VËd Omo {dH$mg Am¡a {dH$mg

 H$mo ~‹T>mdm XoVo h¢

047. {ZåZ ‘| go H$m¡Z gm Q>r~r H$m bjU Zht h¡-

 (A) N>mVr ‘| XX©

 (B) R>§S> bJZm, ~wIma `m amV H$mo ngrZm AmZm

 (C) H$‘Omoar `m WH$mZ

 (D) {gaXX©

048. {S>ßWr[a`m {H$gHo$ H$maU hmoVm h¡-

 (A) {‘S>modmBagg

 (B) J«m‘ nmo{g{Q>d ~o{gbg

 (C) J«m‘ ZoJ{Q>d ~o{gbg

 (D) Eamo{~H$ ~o{gbg

049. ~ƒm| ‘| H$m¡Z go Xm¡ao Am‘ h¢-

 (A) gm‘mÝ`rH¥$V Q>m°{ZH$-Šbmo{ZH$

 (B) {‘Ju H$m Xm¡am

 (C) EQ>mo{ZH$

 (D) Am§{eH$

050. nmZr ‘| H¡$pëe`‘ Am¡a ‘¡¾r{e`‘ Ho$ ŠbmoamBS> H$s 

ñdrH$m`© gr‘m h¡-

 (A) 50-100 mg / L

 (B) 100-200 mg / L

 (C) 200-600 mg / L

 (D) 700-800 mg / L
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051. If a 0.01 M solution of a weak acid has a pH 

of 4.0, the pKa of the acid is:

 (A) 10.0 (B) 8.0 

 (C) 6.0 (D) 4.0 

052. The compounds ethane, ethene, and ethyne 

exhibit this order of increasing acidity: 

 (A) Ethyne < ethene < ethane 

 (B) Ethene < ethyne < ethane 

 (C) Ethane < ethyne < ethene 

 (D) Ethane < ethene < ethyne

053. _________ functional group is responsible 

for the instability of aspirin

 (A) Ester functional group

 (B) Alcohol functional group

 (C) Ketone functional group

 (D) Ether functional group

054. In Bronsted-lowry concept acid is-

 (A) Electron donor

 (B) Proton donor

 (C) Electron acceptor

 (D) Proton acceptor

055. Geiger Muller counter is used to detect-

 (A) Protons (B) Neutrons

 (C) Photons (D) None

051. `{X {H$gr H$‘Omoa Aåb Ho$ 0.01 M Kmob H$m pH 

4.0 h¡, Vmo Aåb H$m pKa--- h¡:

 (A) 10.0 (B) 8.0

 (C) 6.0 (D) 4.0

052. `m¡{JH$m| Ethane,ethene, Am¡a ethyne ~‹T>Vr 

AåbVm Ho$ Bg H«$‘ H$mo àX{e©V H$aVo h¢:

 (A) Ethyne < ethene < ethane 

 (B) Ethene < ethyne < ethane 

 (C) Ethane < ethyne < ethene 

 (D) Ethane < ethene < ethyne

053. _________ H$m`m©Ë‘H$ g‘yh Epñn[aZ H$s ApñWaVm 

Ho$ {bE {Oå‘oXma h¡

 (A) EñQ>a H$m`m©Ë‘H$ g‘yh

 (B) eam~ H$m`m©Ë‘H$ g‘yh

 (C) Ho$Q>moZ H$m`m©Ë‘H$ g‘yh

 (D) B©Wa H$m`m©Ë‘H$ g‘yh

054. ~«m|ñQ>oS>-bmoar AdYmaUm E{gS> ‘| ---- h¡-

 (A) BboŠQ´m°Z XmVm

 (B) àmoQ>m°Z S>moZa

 (C) BboŠQ´m°Z ñdrH$Vm©

 (D) àmoQ>m°Z ñdrH$Vm©

055. JrOa ‘wba H$mC§Q>a --- {JZVr H$aZo Ho$ {bE Cn`moJ 

{H$`m OmVm h¡-

 (A) àmoQ>mZ (B) Ý`yQ´m°Z

 (C) ’$moQ>m°Zm| (D) H$moB© Zht
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056. Water attack test can be applied for-

 (A) Borosilicate glass

 (B) Treated soda lime glass

 (C) General purpose soda lime glass

 (D) All of the above

057. Hydrogen peroxide is used as-

 (A) Protective

 (B) Acidifying agent

 (C) Antiseptic

 (D) Antioxidant

058. 1 Roentgen is equal to-

 (A) 2.58 × 10–5 CKg-1

 (B) 2.58 × 10–3 CKg-1

 (C) 2.58 × 10–8 CKg-1

 (D) 2.58 × 10–4 CKg-1

059. Beta particles penetrate tissue upto-

 (A) 100 cm (B) 1000 cm

 (C) 1cm (D) 10 cm

060. Gold-198 is used as-

 (A) Pernicious anaemia

 (B) Thyroid functioning

 (C) Rheumatoid arthiritis

 (D) Detection of tumors

056. Ob AmH«$‘U narjU H$m à`moJ {H$gHo$ {bE {H$`m 

OmVm h¡-

 (A) ~moamo{g{bHo$Q> ½bmg

 (B) gmoS>m bmB‘ ½bmg go CnMm[aV

 (C) gm‘mÝ` à`moOZ gmoS>m bmB‘ ½bmg

 (D) Cnamoº$ g^r

057. hmBS´moOZ noamoŠgmBS> H$m Cn`moJ {H$gHo$ ê$n ‘| {H$`m 

OmVm h¡-

 (A) gwajm

 (B) E{g{S>Q>r µ’$mB§J EO|Q>

 (C) E§Q>rgopßQ>H$

 (D) E§Q>rAm°ŠgrS|>Q>

058. 1 amoE§Q>JoZ ----- Ho$ ~am~a h¡-

 (A) 2.58 × 10–5 CKg-1

 (B) 2.58 × 10–3 CKg-1

 (C) 2.58 × 10–8 CKg-1

 (D) 2.58 × 10–4 CKg-1

059. ~rQ>m H$U D$VH$ ‘| àdoe H$aVo h¢ `{X do - go‘r h¢-

 (A) 100 go‘r (B) 1000 go.‘r.

 (C) 1cm (D) 10 go.‘r.

060. Gold198 H$m Cn`moJ {H$gHo$ ê$n ‘| {H$`m OmVm h¡-

 (A) naZr{g¶g EZr{‘`m

 (B) Wm`amBS> H$m‘H$mO

 (C) g§{YemoW AmW©amB{Q>g

 (D) Q>çy‘a H$m nVm bJmZm
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061.    The peripheral nervous system includes the:

 (A) Somatic nervous system 

 (B) Brain

 (C) Spinal Cord

 (D) Nuclei

062.   The pharyngeal tonsils are found in the 

 (A) Oropharynx   

(B) Laryngopharynx

 (C) Nasopharynx    

(D) None of the above

063.   Which of the following is NOT a lymphoid 

organ?  

 (A) Spleen 

 (B) Palatine Tonsil 

 (B) Thyroid 

 (D) Lingual Tonsil 

064.  In suction method, the patient is allowed to 

sit in --------------------   position on the table.

 (A) Lithotomy position

 (B) Supine

 (C) Prone

 (D) None of the above

065.  ---------------------is a sterilization method for 

family planning in women. 

 (A) Tubectomy

 (B) Laproscopy

 (C) Both the above

 (D) None of the above

061. n[aYr` V§{ÌH$m V§Ì ‘| em{‘b h¢?

 (A) X¡{hH$ V§{ÌH$m V§Ì

 (B) ‘pñVîH$ 

 (C) ñnmBZb H$m°S©> 

 (D) Zm{^H$

062. J«gZr Q>m°pÝgb ‘| nmE OmVo h¢

 (A) Amoamo’$arZŠg

 (B) bo[a¨Omo’$arZŠg 

 (C) Zmgmo’$arZŠg

 (D) Cnamoº$ ‘| go H$moB© Zht

063. {ZåZ{bpIV ‘| go H$m¡Z gm {bå’$moBS> A§J Zht h¡?

 (A) ßbrhm 

 (B) n¡bo{Q>Z Q>m°pÝgb

 (C) Wm`amBS> 

 (D) qbJwAb Q>m°pÝgb

064. gŠeZ {d{Y ‘|, amoJr H$mo Q>o~b na ----------

-------------- ~¡R>Zo H$s AZw‘{V hmoVr h¡&

 (A) {bWmoQ>m°‘r pñW{V

 (B) gwnmBZ

 (C) àmoZ

 (D) Cnamoº$ ‘| go H$moB© Zht

065. --------------------- ‘{hbmAm| ‘| 

n[adma {Z`moOZ Ho$ {bE Zg~§Xr {d{Y h¡&

 (A) Qy>~oŠQ>m°‘r 

 (B) b¡àmoñH$monr

 (C) Cnamoº$ XmoZm|

 (D) Cnamoº$ ‘| go H$moB© Zht
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066.   The vaccine which provides resistance 

against TB is-------------------

 (A) BCG (B) DPT

 (C) Sabin (D) VZIG

067.   ELISA stands for---------------------------------

 (A) Enzyme-linked immune sorbent assay

	 (B)	 	Human	Immunodeficiency	Virus

 (C) Exercise Listed Intolerance Systemic 

 Disorder

 (D) None of the above

068. Receptors for touch, pressure Pain and 

Temperature are found in the ------------ 

 (A) Skin (B) Tongue

 (C) Ears (D) Nose 

069. Nerve impulses generated by photoreceptors 

leave the eye for the brain via the--------------

 (A) Optic nerve

 (B) Acoustic nerve

 (C) Cornea nerve

 (D) Conjunctiva nerve

070.    One function carried out by all lymphoid 

tissues and organ is

 (A) Filtration of lymph

 (B) Filtration of blood

 (C) Exteramedullary  erythropoiesis

 (D) Lymphocyte production

066. Q>r~r Ho$ pIbm’$ à{VamoY àXmZ H$aZo dmbm d¡ŠgrZ h¡ 

----------------------

 (A) ~rgrOr (B) S>rnrQ>r

 (C) gm{~Z (D) VZIG

067. E{bgm H$m ‘Vb~ h¡ -----------------

 (A) Enzyme-linked immune sorbent assay

	 (B)	 Human	Immunodeficiency	Virus

 (C) Exercise Listed Intolerance Systemic 

 Disorder

 (D) Cnamoº$ ‘| go H$moB© Zht

068. ñne©, X~md XX© Am¡a Vmn‘mZ Ho$ {bE [agoßQ>g© ---

--------- ‘| nmE OmVo h¢

 (A) ËdMm (B) Or^

 (C) H$mZ (D) ZmH$

069. V§{ÌH$m AmdoJ ’$moQ>mo[agoßQ>a Ûmam CËnÞ -------

------- Ho$ ‘mÜ`‘ go ‘pñVîH$ Ho$ {bE Am§I h¢

 (A) Am°pßQ>H$ Zd©

 (B) Üd{ZH$ V§{ÌH$m

 (C) H$m°{Z©`m V§{ÌH$m

 (D) H§$Om{º$dm V§{ÌH$m

070. g^r {bå’$moBS> D$VH$m| Am¡a A§J Ûmam {H$`m J`m EH$ 

H$m`© h¡

 (A) bgrH$m H$m {Zñn§XZ 

 (B) aº$ H$m {Zñn§XZ

 (C) EŠg{Q´‘oSw>boar E[aW«monmoB{gg 

 (D) {bå’$mogmBQ> CËnmXZ
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071. Which of the following is not an additive 

used in formulation?

 (A) Asbestos 

 (B)  Talc 

 (C) Magnesium stearate

 (D) All of the above

072. 	 When	was	 the	first	Pharmacopoeia	of	 India	

published?

 (A) 1945 (B) 1955

 (C) 1965 (D) 1975

073.   What are the adverse effect of injecting large 

volume of Hypertonic solutions?

 (A) Hypernatremia

 (B) High blood pressure

 (C) both of the above

 (D) No side effect

074. For which formulation PET container are 

useful ?

 (A) Blister packing

 (B) Injections

 (C) Cosmetics

 (D) None of the above

075. Granules are formed from the powder particles 

by

 (A) wetting and nucleation 

 (B) attrition or breakage

 (C) both the above

 (D) none of the above

071. {ZåZ{bpIV ‘| go H$m¡Z gm additive Zht h¡?

 (A) A^«H$

 (B) VmbH$

 (C) ‘¡¾r{e`‘ ñQ>r`aoQ>

 (D) Cnamoº$ g^r

072. ^maV H$m nhbm ’$m‘m©H$mo{n`m H$~ àH$m{eV hþAm 

Wm?

 (A) 1945 (B) 1955

 (C) 1965 (D) 1975

073. hmBnaQ>mo{ZH$ g‘mYmZm| H$s ~‹S>r ‘mÌm H$mo B§OoŠQ> H$aZo 

Ho$ à{VHy$b à^md Š`m h¢?

 (A) hmBnaZmQ´>¡{‘¶m

 (B) Cƒ aº$Mmn

 (C) Cnamoº$ XmoZm|

 (D) H$moB© gmBS> B’o$ŠQ> Zht

074. {H$g ’$m°‘y©boeZ Ho$ {bE nrB©Q>r H§$Q>oZa Cn`moJr h¢?

 (A) pãbñQ>a n¡qH$J

 (B) B§OoŠeZ

 (C) àgmYZ gm‘J«r

 (D) Cnamoº$ ‘| go H$moB© Zht

075. nmCS>a H$Um| go H${UH$mAm| H$m {Z‘m©U---- Ûmam 

hmoVm h¡

 (A) Jrbm Am¡a Ý`ypŠbEeZ

 (B) A{VH«$‘U `m Qy>Q>Zm

 (C) Cnamoº$ XmoZm|

 (D) Cnamoº$ ‘| go H$moB© Zht
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076. Mixing is carried out by

 (A) Ribbon mixer

 (B) Paddle mixer

 (C) Impact mill

 (D) All of the above

077.  Sterilisation by moist heat is carried at… 

temperature and pressure

 (A) 15lb/1210C

 (B) 10lb/1150C

 (C) 5lb/1150C

 (D) 15 lb/1150C

078.	 What	 are	 the	 ideal	 requirements	 of	 filter	

medium

 (A) Porous

 (B) Inert

 (C) Insoluble

 (D) All of the above

079. Arkas are made in 

 (A) Water

 (B) Alcohol

 (C) Hydroalcohol

 (D) All of the above

080.    The biggest soft gelatin capsule is 

 (A) 000 (B) 5

 (C) 4 (D) 3

076.  {‘lU------- Ûmam {H$`m OmVm h¡ 

 (A) [a~Z {‘Šga 

 (B) n¡S>b {‘Šga 

 (C) Bån¡ŠQ> {‘b 

 (D) Cnamoº$ g^r

077. H$sQ>mZw hZZ--- Vmn‘mZ Am¡a X~md  na {H$`m OmVm 

h¡

 (A) 15lb/1210C

 (B) 10lb/1150C

 (C) 5lb/1150C

 (D) 15 lb/1150C

078. {’$ëQ>a ‘mÜ`‘ H$s AmXe© Amdí`H$VmE§ Š`m h¢?  

 (A) nmoag hmoZm

 (B) A{H«$` hmoZm

 (C) AKwbZerb hmoZm

 (D) Cnamoº$ g^r

079. AH©$----- go ~Zm`m OmVm h¡

 (A) nmZr

 (B) EëH$mohm°b

 (C) hmBS´>mo EëH$mohm°b

 (D) Cnamoº$ g^r

           

080.   g~go ~‹S>m soft {Obo{Q>Z H¡$ßgyb---- h¡

 (A) 000 (B) 5

 (C) 4 (D) 3
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081. The volatile oils are the complex mixture 

of…….

 (A) mono- and sesquiterpenes as well as  

 phenyl-propane derivatives.

 (B) mono- and diterpene alcohols and 

 ethers.  

 (C) sesquiterpenes and other aromatic 

 compounds.

 (D) monoterpene acids and lactones.    

             

082. Sesquiterpenes are formed of............in the 

plants.

 (A) farnezyl-pyrophosphate

 (B) stress compounds

 (C) colouring material

 (D) degraded products of triterpenes        

083.  What are known as balsams?

 (A) resins dissolved in volatile oil            

 (B) a mixture of volatile oils with 

 sesquiterpenes

 (C) resins dissolved in water                  

 (D) polysaccharide mixed with volatile oil

084. Saponin containing drugs are used as 

detergents but also as...........

 (A) laxative. (B) bitter tonic.

 (C) expectorant. (D) emetic

081. dmînerb Vob  H$m O{Q>b {‘lU h¢²&

 (A) ‘moZmo- Am¡a grñŠ`yQ>anoÝg gmW hr ’o${Zb-

 àmonoZ So>[ado{Q>d&

 (B) ‘moZmo- Am¡a S>mBßQ>rZ AëH$mohb Am¡a BWa& 

 (C) grñŠ`yQ>anoÝg Am¡a AÝ` gwJ§{YV `m¡{JH$&

 (D) ‘moZmoQ>oanrZ E{gS> Am¡a b¡ŠQ>moZ&

082. nm¡Ym| ‘| grñŠ`yQ>anoÝg H$m {Z‘m©U ............ go 

hmoVm h¡&

 (A) ’$maZ¡{Ob nm°Bamo’$mog’o$Q> 

 (B) VZmd `m¡{JH$m| 

 (C) a§J gm‘J«r

 (D) Q́>mBQ>anoÝg Ho$ {dK{Q>V (degraded) CËnmXm|

083. ~mbg‘ Š`m h¢?

 (A) dmînerb Vob ‘| {dK{Q>V ao{OZ

 (B) sesquiterpenes Ho$ gmW dmînerb Vobm| H$m

 {‘lU

 (C) nmZr ‘| KwbZo dmbo ao{OZ

 (D) nm°brgoHo$amBS> H$mo C‹S>Zerb Vob Ho$ gmW

 {‘bm`m OmVm h¡

084. g¡nmo{ZZ ̀ wº$ S´½g H$mo {S>Q>O]Q> Ho$ ê$n ‘| Cn`moJ {H$`m 

OmVm h¡, bo{H$Z BgH$m Cn`moJ ........... Ho$ ê$n ‘| 

^r {H$`m OmVm h¡&

 (A) aoMH$ (B) H$‹S>dm Q>m°{ZH$ 

 (C) {dñVmaH$ (D) B‘o{Q>H$
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085. Alkaloids are naturally occurring compounds 

which contain .............in their molecules.

 (A) one or more N atom(s)

 (B) two heterocyclic rings

 (C) one C15 side chain on the benzene ring

 (D) one or more N atom(s) originated from 

 amino acids

086. How to extract the alkaloids in mineral salt 

form from plant?

 (A) Heating with organic solvent.

 (B) Boiling with ammonium-hydroxide and 

 water.

 (C) Shaking with water containing mineral 

 acid.    

 (D) Boiling with water and lead acetate.

087. Shinoda test is employed to determine

 (A) Talc (B) Tannins

 (C) Flavonoids. (D) Diterpenes

088. The lemon grass oil is distilled from:

 (A) citrus limon

 (B) orange peel 

 (C) saponins

 (D) Cymbopogan species.                     

089. Which drug is of animal origin?

 (A) Valerian.

 (B) jatamansi.

 (C) Musk

 (D) Chenopodium

085. AëH$bm°BS> àmH¥${VH$ ê$n go nmE OmZo dmbo `m¡{JH$ 

h¢, {OZHo$ AUwAm| ‘| ............. hmoVm h¡&

 (A) EH$ `m EH$ go A{YH$ N na‘mUw 

 (B) Xmo {df‘H$moUr` N>„o 

 (C) ~|OrZ [a¨J na EH$ C15 gmBS> MoZ

 (D) EH$ `m A{YH$ N na‘mUw A‘rZmo E{gS> go

 CËnÞ hmoVo h¢

086. nm¡Yo go I{ZO Z‘H$ Ho$ ê$n ‘| AëH$bm°BS> H¡$go 

{ZH$mb|?

 (A) H$m~©{ZH$ {dbm`H$ Ho$ gmW hrqQ>J&

 (B) A‘mo{Z`‘-hmBS´m°ŠgmBS> Am¡a nmZr Ho$ gmW

 C~bVo hþE&

 (C) I{ZO E{gS> `wº$ nmZr Ho$ gmW {‘bmVo hþE&

 (D) nmZr Am¡a grgm EgrQ>oQ> Ho$ gmW C~mbZm&

087. {eZmoS>m narjU ----- {ZYm©[aV H$aZo Ho$ {bE 

{Z`mo{OV {H$`m OmVm h¡

 (A) VbH$ (B) Q>¡{ZZ

 (C) âbodmoZmoBS²g& (D) ‹S>mB©Q>anoÝg

088. bo‘Z J«mg H$m Vob {H$ggo àmá hmoVm h¡:

 (A) {gQ´g {b‘Z

 (B) g§Vao H$m {N>bH$m

 (C) g¡nmo{ZÝg&

 (D) {gå~monmoJZ àOm{V`m§&

089. new ‘yb go H$m¡Z gr Xdm àmá H$s OmVr h¡?

(A) dobo[a`Z&

(B) OQ>m‘m§gr&

(C) H$ñVyar

(D) MoZmonmo{S>`‘
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090. Cinnamon is used as 

 (A) laxative.                

 (B) purgative

 (C) carminative 

 (D) expectorant.

091. Central Register of pharmacist is maintained 

by

 (A) State pharmacy council

 (B) Pharmacy council of India

 (C) Both of the above

 (D) Drug controller of India

092. The absorption of glucose is decreased by 

deficiency	of

 (A) Vitamin A (B) Vitamin D

 (C) Vitamin B1 (D) Vitamin B12

093. Schedule FF contains 

 (A) provisions applicable to blood banks

 (B) standards for surgical dressings

 (C) standards for ophthalmic preparations

 (D) list of instruments

094. Medicinal cannabis includes

 (A) extract or tincture of hemp

 (B) prepared opium

 (C) poppy straw

 (D) all of the above

095. The poisons act was made in 

 (A) 1979 (B) 1919

 (C) 1947 (D) 1985

090. XmbMrZr---- Ho$ ê$n ‘| à`moJ {H$`m OmVm h¡

 (A) aoMH$

 (B) noQ> gmµ’$ H$aZodmbr Xdm

 (C) H$m{‘©Zo{Q>d

 (D) H$’$ {ZñgmaH$ Xdm

091. ’$m‘m©{gñQ> Ho$ g|Q´b a{OñQ>a ----- Ûmam ~Zm`m 

OmVm h¡

 (A) ñQ>oQ> ’$m‘}gr H$mC§{gb

 (B) ’$m‘}gr H$mC§{gb Am°’$ B§{S>`m

 (C) Cnamoº$ XmoZm|

 (D) ^maV H$m S´J H§$Q´moba

092. ½byH$moO Ho$ AdemofU ‘| H$‘r---- H$s H$‘r go 

hmoVr h¡

 (A) {dQ>m{‘Z E (B) {dQ>m{‘Z S>r

 (C) {dQ>m{‘Z ~r 1 (D) {dQ>m{‘Z B12

093. AZwgyMr E’$E’$ ‘| em{‘b h¡

 (A) ãbS> ~¢H$m| na bmJy àmdYmZ

 (B) g{O©H$b S´oqgJ Ho$ {bE ‘mZH$

 (C) ZoÌ g§~§Yr V¡`mar Ho$ {bE ‘mZH$

 (D) CnH$aUm| H$s gyMr

094. Am¡fYr` ^m§J ---- h¡

 (A) ^m§J H$m AH©$ `m qQ>Ma

 (B) V¡`ma A’$s‘

 (C) IgIg

 (D) Cnamoº$ g^r

095. Oha A{Y{Z`‘---- ‘| ~Zm`m J`m  Wm 

 (A) 1979 (B) 1919

 (C) 1947 (D) 1985



7-AA ] [ 21 ] [ P.T.O.

096. hmoå`mon¡{WH$ XdmAm| H$s {~H«$s Ho$ {bE AmdoXZ nÌ 

------ ‘| V¡`ma {H$`m OmZm Mm{hE

 (A) 19-~r (B) 25B

 (C) 30 A (D) 65  AA

097. ----- ê$nm§VaU Ho$ ~mX eara go H$moboñQ´m°b 

eliminate {H$`m OmVm h¡

 (A) EQ>rnr

 (B) ’$m°ñ’$mo{b{nS>

 (C) {nÎm Aåb

 (D) Cnamoº$ ‘| go H$moB© Zht

098. ’$mo{bH$ E{gS> H$s H$‘r go ----- hmoVm h¡

 (A) ~mbm| H$m P‹S>Zm

 (B) ‘oJmbmoãbmpñQ>H$ EZr{‘`m

 (C) ËdMm H$s gyOZ

 (D) Cnamoº$ g^r

099. aoe‘ ----- go àmá hmoVm h¡

 (A) ~m°å~oŠg ‘moar

 (B) {g„r {g„r

 (C) {h{~ñH$g amoOm {gZ|{gg

 (D) Cnamoº$ ‘| go H$moB© Zht

100.  Om`’$b----- Ho$ ~rOm| go àmá hmoVm h¡

 (A) `yOo{Z`m H¡$a{µ’$b‘

 (B) {‘[apñQ>H$m àOm{V

 (C) EboQ>o[a`m àOm{V

 (D) Cnamoº$ ‘| go H$moB© Zht

096. Application for the sale of homeopathic 

medicines should be made in form 

 (A) 19-B (B) 25B

 (C) 30A (D) 65AA

097. Cholesterol is eliminated after conversion to 

 (A) ATP

 (B) Phospholipid

 (C) Bile acid

 (D) none of the above

098.	 Folic	acid	deficiency	causes	

 (A) Loss of hair

 (B) megaloblastic anemia

 (C) dermatitis

 (D) all the above

099. Silk is obtained from 

 (A) Bombyx mori

 (B) Silken sili

 (C) Hibiscus rosa sinensis

 (D) None of the above

100. Nutmeg is obtained from seeds of

 (A) Eugenia carophylum

 (B) Myristica species

 (C) Elletaria species

 (D) None of the above
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